LECTURES ON MANY BODY THEORY
R. Hlubina, Comenius University, Bratislava, Slovakia

LECTURE 1: SECOND QUANTIZATION - HARMONIC OSCILLATOR

Consequences of indistinguishability

In quantum mechanics, identical particles are indistinguishable. In fact, even if we imagine
that originally all particles are numbered, if we observe a particle at some place after a
finite period of time, we cannot say with certainty which number it carries. This is because
in quantum mechanics the notion of particle trajectory loses its sense.

Because of this fundamentally new property, the wavefunction of a two-particle system,
¥ (1,2) (where 1 and 2 are the coordinates -including spin- of particles 1 and 2) should be
physically equivalent to 1(2,1). This means the two wavefunctions may differ only by a
phase factor:

B(1,2) = e9(2,1) = 29y(1,2), (1)
where in the second equation we have used the same argument once more. This means
in turn that e*®? = 1, which can be realized in two ways: either !* = 1 or €’ = —1.

It is an experimental fact that the first possibility is realized for particles with integer
spin (bosons), while the second possibility is realized for particles with half-integer spin
(fermions).

In condensed-matter physics, we consider electrons, protons, and neutrons as elemen-
tary particles. All of them have spin 1/2, i.e. they are fermions. So why do we speak
about bosons? At not too high energies, bound states of electrons, protons, and nucleons
can be considered as elementary. For instance, when dealing with liquid *He at cryogenic
temperatures, we can safely neglect all the excited states of this atom. Now, since it
consists of an even number of fermions (2e+2p+2n), an exchange of two helium atoms
does not lead to a minus sign in the many body wavefunction, i.e. the atom *He is a
boson. On the other hand, it is worth pointing out that the other stable isotope, *He, is
a fermion, being composed of only five elementary particles (2e+2p+1n).

Harmonic oscillator

Another type of bosonic excitations dealt with in condensed matter physics are quanta
of various types of oscillations, like electromagnetic oscillations (the quantum, photon,
has spin S = 1), or lattice vibrations (the quantum, phonon, carries integer spin). Let
us therefore consider the simplest oscillator for the start, namely the harmonic oscillator
with mass m and spring constant K, whose Hamiltonian reads

2
P L.,

H=—+_-K 2

o T (2)

where z is the coordinate and p = —ihd/dzx is the canonically conjugate momentum.

Let us introduce the classical frequency w = y/K/m and a dimensionless coordinate £ =

xy/mw/h. Then the Hamiltonian can be written in the form H = 27 hw (—d?/d&? + £2).
Let us define furthermore the operators

)
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Note that a, a' are Hermitian conjugate operators. It is easy to show that the Hamiltonian
can be written

hw 1
_ T Ty — T
H = 5 (aa—i—aa) hw(aa+2>. (5)

In the second equation we have used the following commutation relation between the
operators a, aT,
[a,a'] = 1. (6)

In order to proceed further, let us show now that the energy in any wavefunction is

nonnegative:
h?
W) = [ do (2m

Let us furthermore denote the state with lowest energy (ground state) as |0) and its energy
as Ey, H|0) = Ep|0). We claim that

dyp

dx

S|

al0) = 0. (7)
In fact, if this was not true, then aH|0) = Eya|0) and making use of
[H,a] = —hwa (8)

we obtain that Ha|0) = (Ey — hw)a|0), i.e. the energy of the state a|0) is lower than Ey,
in contradiction with our assumption that |0) is the ground state. Thus Eq. 7 must hold.
Evaluating H|0) making use of Eq. 7 we find that the energy of the ground state is
Ey = hw/2. The wavefunction in z-respresentation satisfies the equation (£ +d/d¢)y = 0,
from where (&) o< exp(—£2/2).
Now let us consider the excited states of the oscillator. Let |n) be such a state with
energy E,, H|n) = E,|n). Then, making use of the commutator

[H,a'] = hwa! 9)

one finds readily that Ha'ln) = (E, + hw)a'|n), i.e. the state af|n) is an eigenstate with
an eigenvalue F,, + hw.

EXERCISE Show by induction that the n-th normalized eigenvector (satisfying (n|n) = 1)
and the corresponding eigenvalue are, respectively

1 n
_ T
n = - (a")"[0),
1
B, - (n 4 2) how. (10)
Hint. Show first by induction

[a, (aT)n] =n (aT)n_l : (11)
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Making use of Eqgs. 10,11 one finds readily that

a'ln) = Vn+1n+1),
aln) = +/njn—1). (12)

Eqgs. 10,12 can be interpreted in the following way: the spectrum of the harmonic
oscillator consists of states containing 0,1,2,... excitation quanta, each quantum being
equal to hw. The operator a acting on a given state adds to it one quantum of energy
and is therefore called a creation operator. The operator a removes one quantum of
energy and is therefore called annihilation operator. From Eq. 12 it also follows that
ata|n) = n|n), which means that the operator a'a measures the number of quanta. In
what follows we talk interchangeably about particles and about the quanta.

The set of states {|0),[1),]2),...} forms an orthonormal basis of the Hilbert space
of the harmonic oscillator. Any physical operator acting in this Hilbert space should be
expressible in terms of the coordinate and momentum operators, which read

h
— T
x 2mw(a—i—a),

p = i\/mgw(aT—a). (13)

Since the action of a and a' is completely determined by Eqs. 12,7, also any matrix element
of a physical operator can be calculated easily making use of Eq. 13.

The representation of physical operators Eq. 13 in terms of creation and annihilation
operators and the interpretation Eq. 10 of the Hilbert space in terms of added quanta (or
particles) is called second quantization in the literature.

Schrodinger and Heisenberg pictures

So far we haven’t talked about the time dependence of observables. In the Schrédinger
picture we assume that the operators X of physical observables are independent of time,
whereas the states |¢)) are subject to time evolution governed by the time-dependent
Schrodinger equation,

.0
i) = HI). (14

As a result, the expectation value (X) of the observable X becomes time dependent,
(X)(t) = ((t)|X|(t)). For a time independent Hamiltonian the time evolution of |t))
can be formally solved,

[(t)) = e " 1(0)),

and therefore the time dependence of the expectation value can equivalently be written
as

(X)(t) = ((0)]| e X e M (0)) = (| Xu ()| ¢n), (15)
where in the last equation we have defined the operators and states in the so-called
Heisenberg picture: Xp(t) = e'#t/" Xe /" and [tpy) = |(0)). The Heisenberg picture
Eq. 15 thus offers an alternative view of the time evolution of expectation values: the



states do not evolve with time, but the operators do. By taking the time derivative of the
expression for Xy (t) we find
d i

— Xy =

pm h[H,XHH <8X>H, (16)

ot

where the second term on the right-hand side vanishes for an operator which is not
explicitly time dependent (in the Schrodinger picture). Eq. 16 is called the equation of
motion for the operator X. Making use of [H, Xy| = [H, X|y and of Eqgs. 9,8 in the
equations of motion for the creation and annihilation operators of a harmonic oscillator,
one finds readily that al,(t) = afe™! and ay(t) = ae ™!

Coherent states
Eigenstates of the annihilation operator are called coherent states which are useful in
more advanced many body techniques. In what follows we show that the state

|2) = e F e o),

. . . T .
where z is a complex number, is a coherent state. Here the function e** of a creation

operator should be understood in terms of its Taylor expansion, e** = 3> (2" /n!) (aT)n.
EXERCISES
1. If f(a') is a function of the creation operator, show that
df
W= 2 17
. f(ah)] = 2 (17)

Hint. Write down the (formal) Taylor expansion of f(a') and make use of Eq. 11.
2. Making use of Eq. 17 show that |z) is a coherent state.

3. Show that the scalar product of two coherent states is
(ulz) = e~ (e -2072)2

Thus the coherent states are not orthogonal to each other, but note that (z|z) = 1.
4. Show that the system of coherent states is complete,

JE=EIEE

5. Show that the time evolution of the expectation value of the coordinate and momentum

is (with a real 2)
2h
Hz) = y/— ¢
(z]x(t)|2) ——zcoswt,

(zlp(t)|z) = V2hmwzsinwt,

i.e. they satisfy the classical equations of motion with amplitude proportional to z.
6. Show that the expectation value of energy

(z|H|z) = hw(|z]* +1/2) = <p2(2> + ;K<x(t)>2 + hw/2,




i.e. it is given by its classical value, up to a shift equal to the ground state energy.

LECTURE 2: SECOND QUANTIZATION - 'REAL’ PARTICLES

In the previous lecture we have seen that excited states of an oscillator can be thought
of as particles. In case of electromagnetic oscillations (photons) or lattice oscillations
(phonons) these are very real particles which can be observed by numerous experimental
means. Yet, at least in condensed matter physics, electrons, protons, and neutrons are in
a sense more real, since their numbers we take as conserved, whereas photons and phonons
can be created or annihilated, e.g. when an electron falls down from an excited state of
an atom to its ground state. In this lecture we will concentrate on systems of many 'real’
particles.

Consider first that in the system of interest there is only one particle. (For definiteness,
we can think of a particle in a box L x L x L with periodic boundary conditions, ¢(z +
L,y,z) = p(z,y,2) and similarly in the y and z directions.) All possible states of this
particle form a Hilbert space. Let {|a),|b),...} be an orthonormal basis of this Hilbert
space. In the z-representation, the corresponding wavefunctions are p,(x), @p(x), . . .

For a system with only one particle it is irrelevant, whether the particle is a boson or
a fermion. Now consider that we have many identical particles in the system. In Lecture
1 we have seen that the cases of fermions and bosons should be treated separately. We
have chosen to start with bosons.

Bosons

Consider first a system with two bosons in two different states |a) and |[b). Then it is
easy to see that the normalised two-boson wavefunction (which must be symmetric under
exchange of the coordinates 1 and 2 of the first and second particle) reads

o (1,2) = jg a(D)en(2) + eo(L)ea()].

where the index 1, 1,0, ... denotes that states |a) and |b) are populated with one particle
each, whereas all other one-particle states are empty. Now consider a general sytem of
N bosons with Ny particles in the state |a), Ny particles in the state |b), etc. Then the
N-boson wavefunction which is symmetric under exchange of any two particles reads

Nl‘N2
le,NQ,...(]‘?z?"'?N) - ngpl @PQ SDPN(N>7 (18>
{r}
where P;, P, ..., Py is a permutation of Ny indices a, Ny indices b, etc. The sum is to be

taken over all different permutations. It is obvious that, once the basis of single-particle
states is fixed, the many-body states are completely determined by specifying the numbers
of particles occupying the single-particle states. Therefore instead of the wavefunction
¥, N, (1,2,..., N) in x-representation we can talk about the state | Ny, Na,...). Let us
show now that Eq. 18 is a normalised wavefunction:

Nl'N2

(N1, N, ... |Ni, No, .. ) -y /dmp, Yom ( ).../ngp}J/V(N)cpPN(N)

(PP}
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NiINy!.
= = D Opupy - Opyp =1
TN, Py

since the number of permutations is N!/NyINy! . ..

Any N-boson state can be written as a linear superposition of states of the type Eq. 18
which are seen to form a complete orthonormal basis of the Hilbert space of N-particle
states.

From Eq. 18 one can see that the formula for the many-body wavefunction in x-
representation representation is quite cumbersome, although the physical content is sim-
ple: the wavefunction contains N; particles in state |a), Ny particles in state |b), etc. In
what follows we introduce an equivalent and simpler language for the description of many
boson states:

e Let |0) be the vacuum state, i.e. a state without particles.

e Let a; and azT be creation and annihilation operators for the single-particle state ¢
which satisfy the following (canonical) boson commutation relations:

[(li, CL;] = 61]5
la;, a;] = [aj,a;r] 0. (19)
e Since the vacuum state contains no particles, we require that @;|0) = 0 for all

single-particle states 1.

Making use of the techniques introduced in Lecture 1, one finds readily that

lM%wﬁ¢ﬁﬁf@WMWWW

is a normalized N-particle state describing the same physics as Eq. 18.

Fermions
Let us consider now systems of many fermions. For two particles in one-particle states
la) and |b), the wavefunction can be written

%mm:émmmemmm,

with notations similar as in the boson case. Note that, unlike in the boson case, if the
states |a) and |b) are equal, the wavefunction vanishes. This implies the famous Pauli
principle that two fermions can’t occupy the same quantum state. It should be stressed at
this point that the symbol 1 for the coordinates of the first particle should be understood
as a shorthand for both the spatial and the spin coordinate, 1 = (x;,01) (and similarly
for other particles).

In other words, the Pauli principle implies that the sequence of occupation numbers
Ny, Ny, ... (where the ordering of the one-particle states is fixed once forever) may contain
only the numbers 0 and 1. One verifies easily that the general N-particle wavefunction
which is antisymmetric under exchange of any two coordinates reads

wal,ag ..... aN(17 27 ey Z QOP1 SOPQ (2> - PPy (N)7 (2())
{P}
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where 14, 4.0y means that only the one-particle states |ai),|as),...,|ay) are occu-
pied and the remaining states are empty. P, P»,..., Py is a permutation of the states
la1),|as), ..., |an), and the factor (—1) equals 1 and -1 for those permutations, which
can be arrived at after even and odd numbers of pair exchanges, respectively.

EXERCISE Show that the wavefunction Eq. 20 is normalized.
In what follows we adapt the method of second quantization to the case of fermions.
We start with the following definitions:

e Let |0) be the vacuum state, i.e. a state without particles.

e Let ¢; and c:-r be creation and annihilation operators for the single-particle state ¢
which satisfy the following (canonical) fermion anticommutation relations:

{CnC}} = 0y,
{Civcj} = {0376[} = 0. (21>
(The anticommutator is defined as {X,Y} = XY + Y X )

e Since the vacuum state contains no particles, we require that ¢;|0) = 0 for all single-
particle states 1.

In what follows we will show that the basis states of the N-fermion Hilbert space,
Eq. 20, can be written in the following second-quantized form

Wal,az,--.,azv> = C(Tllczrlz T C(J[IN‘O>'

In fact, N-particle states in which the fermions occupy different sets {ay,as,...,an} and
{b1,bs,...,bn} of single-particle states are orthogonal to each other. To see this, let us
assume that the state b is contained in the set {b1, ba, ..., by} but not in {a, as,...,an}.
We find

<¢b1,b27---7bN|wa1,a2,---,aN> - <0|Cb1\7 cee Cb2Cb102102;2 s CLN|O> =0,

since the annihilation operator ¢, can be moved to the right so that it is the rightmost
one of the 2N creation and annihilation operators (with possibly changing the sign of the
overlap), but ¢|0) = 0. On the other hand, we find

<¢al,(12,...,a]\f|¢(I1,(12,...,(1N> - <O|CaN cte CQQCalcl—,lClQ ct CLN |0>
(0Cay - - Cap(1 — cilcal)cl2 . CLN|O)
= {0|Cay - - - CanCl:, .. .clN|O>

(0]0) =1,
i.e. the state |tq, 4,y ) is normalized. We have used that [c], c,,, ch] = 0 for j # 1. Note
that all states ay, as, ..., ay must be different, otherwise (14, a,...ay) = 0 (since from the
anticommutation relations it follows clcl = 0), i.e. the Pauli principle is satisfied. Finally,
let us note that if the set {by,by,...,bx} is a permutation of {ay, as,...,ay}, then

<1/)b1,b2,...,b1\r|¢a1,a2 ..... aN> = :I:l,
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the plus (minus) sign obtaining for an even (odd) permutation. Thus, the order of oper-
ators is not irrelevant as in the case of bosons.

EXERCISE Show that clca|ta,as..an) = MalVar.as...an), Where n, = 1 if the state a is
among the states aj,as,...,any and n, = 0 otherwise. Thus the operator clca measures
the number of particles in the single-particle state a.

One-particle operators

Having defined the many-particle states in the language of second quantization, let us
discuss now how to express the operators in terms of creation and annihilation operators.
Let us start with the so-called one-particle operators F', which can be written as

N
F=> f
i=1

where the sum runs over all particles in the system and f; is an operator acting on the
i-th particle. The kinetic energy, total momentum, z-component of the total spin, etc.
are examples of such operators.

Let us consider that basis of one-particle states |a), |b), ... which diagonalizes the one-
particle operators f, (a|f|b) = fodap. It is obvious that in this basis the total quantity
F' can be calculated by summing over all states and counting how many particles occupy

them,
F= Zfa chea = (alflb)cley

ab

where for definiteness we have assumed the fermion case, but the boson case has the same
form. The second equation, although at first sight unnecessarily complicated, will be used
later.

Finally, let us change the basis set of one-particle states to |a) = >, Uaala) (the old
basis states are denoted by latin and the new ones by greek letters). The hermitian
conjugate equation reads (o] = Y-, U’ (a| and therefore

dap = () = Z Umalb) = Z oUsa =2 Usa (UUM: (UUT>ﬁa

Thus a transformation between orthonormal bases needs to be unitary, UUT =1 or UT =
U=, From here it follows that UTU =1 or 3, U, Uss = 0ap. The inverse transformation
from the new basis to the old one therefore reads

> Udala) =3 UsUaslb) = 3 du|b) = |a)
« ab b

Since the wavefunctions can be thought of as a result of the action of creation operators
on the vacuum, we have the following transformation rules

o = LU
Ca_ aaa’

Cq = ZUaaCa- (22)



Inserting Eq. 22 into the expression for F' we find

F = Slalfyehe = 25 Unnlol A1t Unches = S(alf18)ches, (23)

ab af af

which is the general expression for one body operators, valid both for bosons and fermions.

EXERCISES

1. Consider electrons (fermions with spin 1/2) whose complete one-particle basis set
consists of states | T) and |« | ), where |a) is a complete set of orbital states and | T) and
| |) are the two possible projections of the electron spin on a fixed chosen spin quantization
axis. Let us define the operators

St = ZCLTCQL,
(e}

ST = ZCLLCOZT' (24)
a) Compute S* from the expression S* =[S, S7]/2.
b) Show that [S%, S*] = St and [S%,57 ] =—-5".
¢) What is the physical meaning of the operators S* = (St +S57)/2, S¥ = (St —57)/2i,
and S*7

2. Let us define the operator S* = (5%)? + (5%)% 4 (5%)? and let us denote its eigenvalues
as S(S +1). Show that the following two-electron states are eigenstates of S* and SZ.
Compute the eigenvalues S and S* for these states.

1
V) = E(CLTCEL - cLchT)]m,

X1) = CLTC,T@'HO)’
1
IXo) = W(CLT% + cllc}”)]()%

Ix-1) = CLLCEL|O>-

3. Show that the states from exercise 2 form a complete orthonormal basis in the Hilbert
space of two-electron states built from two orbitals |a) and |5).

LECTURE 3: TWO-ELECTRON SYSTEMS

Two body operators
In what follows we seek an expression for a general two-body operator

ngv

%#J

where the sum is over all pairs of particles (we exclude the interaction of a particle with
itself) and g;; is an operator acting on particles ¢ and j. The most commonly met example



of a two-body operator is the interaction energy of a system with two-body interactions,
e.g. the Coulomb energy of charged particles. We will frequently make use of the matrix
element

(ablgled) = [ di [ dj ¢i(0)ei (Dgizeelidpali) (25)

Note that (ab|g|cd)* = (cd|g|ab). Moreover, for even operators g;; = g;;, we also have
(ablg|cd) = (ba|g|dc). These two properties imply that the matrix elements (ab|g|ab) and
(ablg|ba) are both real.

Let us consider that basis of single-particle states which diagonalizes the interaction
function g, (ab|g|cd) = 04c0p4(ab|glab). In this case also the two-body operator G remains
diagonal in the basis Eq. 20 of the N-fermion Hilbert space (or, for N-boson states, in
the basis Eq. 18). Therefore the operator G' can be expressed as

1
G = 5 > (ablglab) Py,
ab

where P, is an operator counting the number of particle pairs. If |a) # |b) then P, = n,ny
(where n, is the operator of the number of particles), whereas for |a) = |b) we have
P,, = ng(n, —1). Combining the two cases, we can write P, = n,n, — dgpne. In terms of
creation and annihilation operators we thus obtain P,, = clcachb - 5abcflca and therefore
in our one-particle basis we can write

1 1
G = 5 > {ablglab)(cleacher — dunclca) = 5 D~ (ablgled) (cceclea — dacica).

ab abed

Now we observe that making use of canonical commutation (anticommutation) relations
we can write cgcchcd—écbclcd = cgclcdcc, an expression valid both for fermions and bosons.
If we perform the transformation Eq. 22 to a general basis, making use of

> UL UsUsaUsc(ablgled) = (oB|glvd)

abed

we find the final result for a two-particle operator (valid both for fermions and bosons)

1
G = 3 > (aBlglvd) ch/T@c(;cW. (26)
afBvyé

Atom of carbon - Hund’s rules

The total Hamiltonian of an atom can be written as H = Hy + V, where Hy contains
the kinetic energy of the electrons and the Coulomb interactions between the electrons
and the nucleus. On the other hand, V' describes the Coulomb repulsion between the
electrons, V = 271 >iz; Vij. The energy levels of the Hy part of the Hamiltonian of
a multielectron atom can be classified by the same quantum numbers as the hydrogen
atom. The electronic configuration of the carbon atom is therefore 1s?2s?2p?. There are
three p orbitals, whose angular dependence is

[3 .
p1(9’¢) = - 8777'811196(1)’
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3
po(0,0) = H@COSQ,
(0.6) = = singe
p_1(0, = 87Tsm e .

This means that the 2p shell is only partially filled. There are 6!/(2!(6 —2)!) = 15 ways in
which the two electrons can be distributed among 6 available one-particle states (3 orbital
states X 2 spin states). In other words, one can construct 15 states of the type ¢ _cl ,|0),
where a, b are arbital indices and o, ¢’ are spin indices.

We ask the question which of these 15 two-particle states minimizes the total energy
of the atom. In order to answer this question, in what follows we calculate the first
order correction to energy with respect to the perturbation V. If we attempt to solve
this question by brute force, we need to diagonalize a matrix 15x15. In search of an
analytical solution, we look for symmetries of the problem which help us to reduce the
dimensionality of the problem. To this end let us define the following set of operators

L = Z(CJ{UClU_CT—lUC*lU%
Lt = \/52(02]00710‘{'6{0000)7

L~ = ﬁZ(cilgcog + cggclg). (27)

EXERCISES

1. Show that [L*,L7] = L? and [L?, L*] = £L*. This means that L = (L*, LY, L?)
(where L* = (LT + L7)/2 and LY = (LT — L7)/2i) is the operator of orbital momentum.
2. Show that [L?, S/] = 0, where the spin operator S has been defined in Eq. 24.

Since the Hamiltonian V' is independent of spin and rotationally invariant, we must
have [V, L‘] = [V, S"] = 0. This means that the eigenstates of V' can be chosen so as to
simultaneously diagonalize the commuting set of operators L2, L*, S?, L*.

Let us start by constructing the state L = 2, L = 2. There is only 1 such state, in
which both electrons are placed in the same orbital |p;). By subsequent application of
the lowering operator L~ to this state we obtain the following 5 states:

|Dy) = CJTLTCL’O%
|D1) = 271/2(0%031 + C(T)Tch)m,
|Do) = 6_1/2(C§TCT—1L + QC(T)TC(T)l + CT—1TCL)|0>,
|1D_1) = 2_1/2(0&0111 + CT—lTC(];l)|0>a
D) = ey o). (28)

One can show easily that S?|D,) = 0. Since S* commutes with L™, all states |D;) have
S = 0 (they are spin singlets). On the other hand, by construction we have L*|D;) = i|D;)
and L?|D;) = L(L + 1)|D;) with L = 2.

Next we construct all states with S = 1 and S* = 1. This requires that both electrons
have spin up and there are three such states:

|P) = CITC(T)HO)a

11



|Fo1) = CITCLT‘O%

[Pon) = cjicly0). (29)
The notation in Eq. 29 is chosen so that the first index n in | P,,,) measures L*, L*|P,,,) =
n|P.m), whereas the second index measures S%, S*|P,,) = m|P,,). By subsequent

application of the spin lowering operator S~ to each of the three states Eq. 29, we obtain
in total 9 states of the type |P,), where n = —1,0,1 and m = —1,0,1. Moreover, one
can easily show that all |P,,,) states have L =1 and S = 1.

So far, we have constructed 5 states |D;) and 9 states |P,;,). In order to proceed,
we need to find the last linearly independent combination of the states c(wcba 0). In
order to find it, let us note that there exist 3 combinations of a,b and o, ¢’ which lead
to S* = L* = 0, namely cch 1l\O) COTCOL‘()) and cimchlm. On the other hand, so
far we have constructed only 2 states with S* = L* = 0, namely |Dy) and |Py) =
2 1/2( s Cuc 11)]0). The remaining linearly independent state with S* = L* = 0
is easﬂy found to be

_ 2 1

where |a) = 27V2(clc’ ;| — ¢l 1;)[0). One finds easily that the |S) state is chacterized
by L =5 =0.

Summarizing, a basis of the (15 dimensional) Hilbert space can be found, in which
every basis vector has different quantum numbers L, L*, S, S*. Therefore the Hamiltonian
V' in this basis is diagonal. Moreover, since the energy should not depend on the directions
of the spin and orbital momenta, one of the levels (corresponding to the |S) state) will
be nondegenerate, one five-fold degenerate (the |D;) states), and one nine-fold degenerate
(the |P,,,) states). Therefore it is sufficient to calculate three matrix elements in order to
determine the full spectrum of the problem.

EXERCISE Show that
E(S) = (S|V]S) = §<Oé|v|04> 3{00]v]00) — = > ({00[v[1L — 1) + (00[o] — 11))
E(P) = (Pu|V|Pn) = <10|U|10> (10[v|01),
E(D) = (DofV[Dy) = (11]v[11),
where (a|v|a) = (1 — 1|v|]1 = 1) + (1 — 1|v| — 11).
Making use of the techniques of atomic physics, one can show
(00[v]00) = (11]v|11) + (10Jv|01),
(10[v]10) = (11]v|11) — (10Jv|01),
(1—1Jv| —11) = 2(10Jv|01),
(1—1Jv|1—1) (11|v|11),
(00jv|]1 — 1) = (00Jv| — 11) = —(10Jv|01).

This enables us to express the energies E(S), E(P), and E(D) in terms of only two matrix
elements, (11|v|11) and (10[v|01),

E(S) = (11fv|11) + 3(10]v|01),
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E(D) = (11jv|11),
E(P) = (11|v[11) — 2(10[v]01). (31)

For repulsive interactions which decay with increasing distance between the particles (like
Coulomb interactions) we expect (ab|v|ba) > 0. This can be shown explicitly for contact
interactions, where v(x —y) = Vé(x —y):

(abfolba) = [ dx [ dyoix)eiy)vix - y)e)eay) =V [ @xlea0Pl ) = 0
This then means that Eq. 31 is completely consistent with Hund’s rules:

e The ground state of an atom with an incomplete shell has the maximal total spin.
(In our case the states |FP;;) with S =1.)

e Within the subspace with a given total spin, energy is minimized by the state with
the maximal orbital momentum. (In our case, within the subspace with S = 0, the
states |D;) with L = 2 have lower energy than the state |\S) with L = 0.)

The reason why spin is maximized in the ground state is the following. When two electrons
have a parallel spin, due to Pauli’s principle they try to avoid being close to each other.
This lowers their Coulomb interaction energy.

Hydrogen molecule

As another example of a two-electron system, let us consider now the hydrogen molecule.
Within the simplest model, we can restrict the Hilbert space of one-particle states to two
orthogonal orbitals, one of them centered at the atom 1 and an identical one centered
around the atom 2. We consider the following model of the hydrogen molecule

H=—t Z(CLC% + hoCio) + Ulnypna + ngpngy), (32)

where the first term describes hopping of electrons between states |1) and |2) (parametrized
by the hopping amplitude t) and the second term (in which n., = cl_c,,) originates in
the Coulomb repulsion between the electrons. Note that the full Coulomb interaction
V(x —y) would include also other matrix elements Eq. 25 besides

U= [dx [@yle )PV -y) = [dx [ d@ylemlem)PVxc-y).

but all of them are neglected in the so-called Hubbard model Eq. 32, because they are
much smaller.

There are two electrons in the hydrogen molecule. The Hilbert space of two-particle
states consists of 4!/(2!(4 — 2)!) = 6 states of the type ¢l ¢} ,|0). Thus, in order to
find the ground state of the hydrogen molecule, we need to diagonalize the Hamiltonian
matrix 6 x 6. Making use of the symmetries of the problem, this task can be performed

completely.

EXERCISE Show that the Hamiltonian Eq. 32 commutes with the total spin operator,
[H,S?| = [H,S*] = 0.

13



Next we define a parity operator P. Its physical meaning is to interchange sites 1
and 2. Therefore we require P? = 1, Pcio_P = CEU, and Pci,P = ¢9,. The vacuum state
does not change under interchange of 1 and 2, i.e. P|0) = |0). One verifies easily that
[H,P] =0 and [P,S?] = [P, S?] = 0.

Now we construct linear combinations of the basis states ¢/ ¢} ,|0) which are simulta-
neous eigenstates of P, S%, and S%. We start with the state S = 1, S* = 1 and apply the

spin lowering operator S~ to it:

Ty) = CJ{TC;TIO%
To) = 2_1/2(chc;i+chc£¢)|0),
T-1) = e}y ]0).

One finds readily that the parity of these so-called triplet states is P = —1. On the other
hand, the state orthogonal to |7}),

|S1) = 271/2(4@& - Chcgr)m%

has quantum numbers S = S* = 0 and P = 1. The two remaining states involve doubly
occupied orbitals 1 and 2:

|S2) = 2_1/2(0}011 + CgTCET)|O>
has quantum numbers S = 5% =0 and P = 1, whereas
|S3) = 2_1/2(CITCL - CETCQT)W

is characterized by S = S* =0 and P = —1.

Note that all of the above states, except for the pair of states |S;) and |S3), have
different quantum numbers and therefore all off-diagonal matrix elements of H in this
new basis vanish, except for (S;|H|S2) and its hermitian conjugate.

EXERCISE Find the ground state (and the corresponding ground-state energy) of the
hydrogen molecule described by the Hubbard model Eq. 32.

The Hartree-Fock method
The hydrogen molecule example shows that the ground state of a many particle system
is seldom a single Slater determinant (in this section we restrict our discussion to the
fermion case). Nevertheless, usually a good first approximation to the ground state can
be obtained, if we look for that Slater determinant, which minimizes the ground state
energy within the subspace of Slater-determinant states. The crucial step is to find the
corresponding set of single-particle states, out of which the Slater determinant is built.
This method is called the Hartree-Fock method after its inventors.

Let us assume that the wavefunctions ¢, (r) form the optimal single-particle basis
we are looking for. Let furthermore |¥) be the Slater determinant formed making use of

©Yao(r). Then the expectation value of the interaction energy in the Hartree-Fock state
|W) reads

1
<\I;|H1Ht"lj> = 5 Z Z<046|V|’75><\I/|CLUC;U,C(;U/CWU|\IJ>
afBvyd oo’
1
= 52X (aBlVIaB)nagnge — (aB|V|Ba)nasnssSa)
af oo’
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since the same states which were annihilated by cs, ¢, have to be restored back by cggc:gg,.

It is worth to emphasize that the operators ¢/ and c,, create and annihilate the states
VYoo (r). If we used another basis for the creation and annihilation operators, the result for
(V| Hine|¥) would not be that simple. Making use of the definition of the matrix elements
(af|V]y6) and adding the kinetic energy Hy we can write the total energy E[W] of the
state |U) as

BI] = 3 [ dx0} (%) Hopao (X)

+; > / d*x / Pyl (%) 05 (Y)V (% = ¥) (080 () Pae (X) = 050 Pac (¥) P50 (X)] |

afoo’

where the sums are to be taken over occupied states. Let us minimize now E[V] with
the boundary condition [ d*x¢?_(X)@as(x) = 1, the latter being described by a Lagrange
multiplier £,,. We obtain

Hopao (%) + ﬁz:,/dgy(ngl Y)WV (=) (080 (¥)Pac (X) = do0'Pac (¥)Pp0 (X)] = EacPac(X),

(33)
which is the Hartree-Fock equation for the optimal one-electron orbitals. Note that if
[o’ = ao, the interaction term vanishes. This means that a particle does not interact with
itself. Eq. 33 can be written in the form of an ordinary Schrodinger equation Hyppa,(Xx) =
EaoPac(X), Where £,, can be interpreted as the Hartree-Fock energy of the single-particle
state @ao(x). The effective Hamiltonian Hpypr acts on a wavefunction ¢, (x) as follows:

Hiroo (%) = [Ho + Vi (0)] 95(x) = [ dyVs(x = ¥)20(y).

The potentials Vi (x) and V,(x —y) are called the Hartree and the exchange potential,
respectively. What makes the solution of Eq. 33 difficult is the fact that these potentials
are not a priori known, but they rather depend on the functions ¢, (x) to be determined,

Vi) = [dyVix—y) 3 lparx)l,

Vox=y) = > @0, 0V(x—¥)pas(x),

where the sums are to be taken over occupied states. The Hartree potential is easily seen to
describe the (classical) average potential created by all the particles in the system, whereas
the exchange potential (which depends on the spin orientation in general) represents a
quantum mechanical correction discovered by Fock. Note that the exchange potential
is a non-local object, which greatly complicates the solution of Eq. 33. Usually the
Hartree-Fock equations can be solved only numerically by an iterative method: first try
a set of orbitals, then calculate the potentials, then solve for the new orbitals using these
potentials. The calculation can be stopped when the old and new orbitals do not differ
any more.

EXERCISE Show that Hgp is a hermitian operator.
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Since Hyp is hermitian, its eigenvectors can be chosen orthogonal to each other,
thereby forming an orthonormal set of states.

Taking the integral of Eq. 33, one finds readily that the single-particle energies can be
written as

for = [ A0 (%) Hopao (¥)

+ 2 [ [ @yl (0 3)V (= ¥) (280 (Y) a0 (%) = Sarpua (¥)0a0 ()]

Note that there is no factor 1/2 in the term coming from interactions. This means that
the total energy of the system is not a simple sum of the single-particle energies ¢,,, but
rather
E:ngaa— ZZ Oémwaﬁ O'O'/<&/6‘V‘ﬁa>)7
ao ao [Bo’

where the sums are once again taken over the occupied states.

As a simple example of the Hartree-Fock method, consider the hydrogen molecule ’in
an external field’, described by the Hamiltonian

H = —tZ(CIUCQU + cgo_clg) + U(nlmu + nnggl) + A(TLQ — nl). (34)

The new term proportional to A describes the action of the electric field: the energy at
site 2 is +A, whereas at site 1 it is —A. This new term breaks the symmetry of the
system with respect to parity, and therefore the exact solution (in the singlet sector)
would require diagonalization of a 3 x 3 matrix. (Let us note in passing that the energy
of the triplet states is not changed by the A term.)

In order to proceed, let us assume that |¥) = d¥d“0) is the Slater determinant we are
looking for. In other words, we assume that both the up-spin and the down-spin electrons
occupy the same orbital df|0) = golc];|0> + 4,020£|0>, i.e. site 7 is occupied with probability
amplitude ;. Obviously, ¢; and ¢, play the role of the wavefunction in our model.

EXERCISE Write down the Hartree-Fock equations for ¢; and 5. Solve the equations
in the limits U = 0 and U — oo. Calculate the difference § of average occupations at
sites 2 and 1. How does 0 change under increasing U? Why?

LECTURE 4: JELLIUM MODEL-GROUND STATE PROPERTIES

Jellium model

Now we are in the position to discuss the physics of many body systems. Let us start with
the simplest model of a metal, the jellium model. This is a model of a metal in which the
positive ion charge is smeared homogeneously in the volume of the crystal. The average
charge densities of electrons and ions are equal in magnitude and of opposite sign, so as
to make the crystal electrically neutral. The Hamiltonian of the system

2 2

T R S

“ Areo|r; — 1y
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consists of a sum of kinetic energies of the electrons and of the Coulomb interaction
energy among the electrons. The last two terms describe electron-ion and ion-ion Coulomb
interactions, respectively.

We have an infinite system in mind, but in order to keep a countable basis set, we
consider N electrons in a large box L x L x L with periodic boundary conditions. We
take the system of plane waves |k) as our complete orthonormal set of one-particle (or-
bital) wavefunctions. In x-representation this basis reads ¢ (x) = L™3?expik - x. The
wavenumber k can take on the values (I, m,n)2m /L, where [, m, n are integers. The single-
electron basis consists of a direct product |ko) of the orbital basis and the spin basis |o),
the latter consisting of two states | T) and | |).

Transforming the Hamiltonian to the second quantized form, we first note that it does
not depend on spin and therefore both nontrivial terms are diagonal in the spin index.
Furthermore we note that (k|p?/2m|kK’) = ek with e = h*k?/2m and

e? 1

= o %i1+ka,ks+ks Vki—ks>
(k1kal |ksky) Q5k tko ks+ka Vi —k

dmep|r; — ;|
where Q = L? is the volume of the system and Vy = [d’r(e*/4dmeor)expiq-r is the
Fourier transform of the Coulomb potential. Therefore the Hamiltonian reads

H = Z EkCLUCkU + 21Q Z Z Z VqCL.FqJCLng/Ck’U’CkU- (35)
ko kK q#0 0,0/
Note that the Coulomb interaction energy does not contain the term with q = 0. More-
over, neither H,; nor H;; enter Eq. 35. This is because the q = 0 term contributes an
additive constant VoN(N — 1)/(2Q) ~ VoN?/(2Q) (the latter expression is valid if we
consider only terms which are proportional to the volume of the system). This constant
is precisely cancelled by the Coulomb interactions with (and within) the background.

EXERCISE Show that Vg = €?/(g0q?). Hint. Making use of contour integration, show
that

= (36)

/ dSq 6—iq~r e—ksr
(2m)3 (a® + k2)  Adnr

and take the limit £, — 0.

Free electron gas

In what follows we treat the jellium model Eq. 35 within perturbation theory. We take the
kinetic energy as the unperturbed part of the Hamiltonian and the Coulomb interaction
term is considered as a small perturbation. We will see that this perturbative approach
is justified in the limit of a dense electron gas.

We start with the unperturbed Hamiltonian corresponding to a noninteracting electron
gas. Due to the Pauli principle, not all electrons can occupy the lowest energy state with
k = 0. Rather, the electrons fill all |ko) states with k < kg, where kg is the so-called
Fermi wavevector. The occupied region of k-space is called the Fermi sea and the surface
dividing the occupied and unoccupied regions is called the Fermi surface. The ground
state wavefunction can be written

ISy = ] cLTcLl|0>. (37)

|k|<kp
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For the sake of simplicity, we assume that N satisfies the so-called closed-shell condition,
which states that if there are several |k) vectors with the same energy, all of them are
either simultaneously full, or simultaneously empty. Under these conditions the ground
state is unique and its total spin S = 0 and total momentum P = 0.

The Fermi surface encloses a volume (4/3)mk?., inside of which there is a grid of
occupied |k) states. Each of these states has an associated volume (27/L)? and is occupied
with two electrons, one with spin up and the other with spin down. Therefore the total
number of electrons is equal to k%/(37%). Equating this number with N we find an
expression for the Fermi wavevector, kr = (37%n)'/3, where n = N/Q is the density of
electrons. Therefore the maximal energy of occupied states (the so-called Fermi energy)

is ep = h°k%/(2m).

EXERCISE Show that the total ground state energy of a noninteracting Fermi gas is
Ey/N = (3/5)er. Hint. In the limit of a large system L — oo, sums over k-space can be
approximated by integrals, Q7! 3", — (27)73 [ k.

It is useful to associate with each electron a ball with radius rg such that n =
[(4/3)7r3]™*. Then the typical distance between nearby electrons is of the order rg.
In what follows we will sometimes characterize the electron gas by a dimensionless ratio
rs = ro/ap and measure lengths in units of the Bohr radius ap = 4megh?/(me?) and
energy in units of Ep = h*/(2ma%). In these units the ground state energy of the Fermi
gas reads Fy/(NFEg) = 2.21/r%. Note that Fy oc k% oc r;2

Perturbation theory: first order
Next we discuss the first-order correction to the ground-state energy F = Fy+ Fy + .. .,

Z Z Z FS’CLJquC;r{’—qg’Ck/a”Cka’FS>,

kk’q;éOUcr’ € q

where |F'S) is the unperturbed ground state. The matrix element yields a finite contri-
bution only if the operator cL +qocL_qU, creates the same two single particle states which
were annihilated by the operator ¢y cxy,. Since q # 0, this is possible only if k = k' — q
and o = ¢’. Therefore F, simplifies to

2

Z Z EyRE FS\ck, ckgckfgckU|FS —— Z k) — s fi e,

k’;ék o k’;ék 0

where we have denoted the occupation number of the one-particle state |ko) in the many
particle wavefunction Eq. 37 as fi. (Note that we have made explicit use of the fact that
ot cko|FS) = fi|F'S), irrespective of the value of ¢.) Also note that fy is a simple step
function, fi = 1 for |k| < kr and fx = 0 otherwise. Changing the summation variables
and replacing the sums by integrals we obtain

_ Qe? d3q
- —q;Ok o idica = o ] @ F@ (38)

where we have introduced F(q) = (27)7® [ &®k fx fx—q. The function F(q) can be inter-
preted as the volume of the intersection of two identical Fermi spheres displaced by q, see
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Fig. 1. One finds readily that

Rkg

Figure 1: Left: the region in k-space whose volume defines the function F(q). Right: the
correlation function g(R).

The integration over q in Eq. 38 can be performed trivially in spherical coordinates.
Summarizing we find that the ground state energy is, to first order in interaction energy,

E  30%;p 3 €hp
N — 52m 1672 ¢
E 221  0.916
= == . 39
NEg T2 Ts (39)

From the second form of Eq. 39 one can see that in the low-density limit r; < 1, the
kinetic energy per one particle is much larger than the interaction energy. It is therefore
in this limit where our perturbative calculation is valid. Before proceeding it is worth
pointing out that for electrons in simple metals, 7 lies in the range between 1.8 and 5.6.
The applicability of perturbation theory to metals is therefore highly nontrivial.

Correlations within the Fermi sea

The fact that F; < 0 indicates that already within the wavefunction Eq. 37, the electrons
avoid each other, which lowers the energy of the system. In order to clarify this issue,
let us first define the density operator in point r, p(r) = N, 6(r — r;). Alternatively, in
second quantization we can write p(r) = Q7" 3 o, exp(iq-T) ¢, CKo- Note that, making
use of this second quantized form, the expectation value of p(r) in the Fermi sea is easily
seen to be (FS|p(r)|FS) = N/Q = n, proving explicitly the translational invariance of
the system.

Let us compute the function g(R) defined as

n’g(R) = (FS|p(0)p(R)|FS) — nd(R) = é /d3r(FS|p(r)p(r +R)|FS) —né(R), (40)

where in the second equation we have made use of the translational invariance of the
system. Note that for large R one expects that the density at point r+R is not affected by
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its value at r and therefore (F'S|p(r)p(r+R)|FS) =~ (FS|p(r)|FS){FS|p(r+R)|FS) = n.
In other words, at large distances the function g(R) ~ 1.

In order to clarify the physical meaning of g(R), let us insert for p(r) its first quantized
definition and perform the integral over r. Then we find

n2g(R) = = S(FS|o(; - 1 — R)IFS),

Q i#]

showing explicitly that g(R) is proportional to the probability of finding two electrons
at a relative distance R. Functions of the type Eq. 40, where expectation values of
local quantities at different points are considered, are called correlation functions in the
literature.

The correlation function Eq. 40 can be evaluated by going over to second quantization,
which way we find n2g(R) = n? — 2(27)73 [ d®qF'(q)e!?®. Note that the same function
F(q) enters both, the first-order correction to energy and the correlation function.

EXERCISE: Performing the q integration in spherical coordinates, show that

9 [coskpR — (krpR) 'sinkpR 2

The function g(R) is plotted in Fig. 1. Note that the probability to find two different
electrons at the same point is one half of the probability to find them far apart from each
other. This is a consequence of the Pauli principle: one half of all electrons (namely that
half which has the same spin as the chosen electron) is repelled from the test electron,
while the other half (with opposite spin) does not feel the presence of the test electrons.
The suppression of g(R) extends to distances ~ ky', i.e. it is on the order of a typical
electron-electron spacing rg. This suppression is called the exchange hole in the literature.

Low electron densities: the Wigner crystal

In the limit of small electron densities, the potential energy is expected to dominate
over the kinetic energy and, as pointed out long ago by Wigner, the electron gas should
crystallize. In what follows we give a crude estimate of the ground state energy in this
phase.

The crystal is a periodic collection of sites, around which the electron is localized.
Each lattice site we view as a spherical region (with radius ry), within which there is one
electron moving in a homogeneously distributed charge |e|. Outside this spherical region,
there is an uncharged background (from the point of view of the chosen electron), see
Fig. 2.

The ground state energy per electron can be estimated as a sum of the Coulomb
energy of the ionic background ¢; and of the energy ¢ of an electron moving in the
potential generated by the background, E/N = e; + €.

EXERCISE Show that the electrostatic potential generated by a homogeneously charged
sphere (with total charge |e| and radius ro) is ¢/¢g = (3 — r?/r3)/2 for r < ry and
¢/po = 1o/1 for r > 1y, where ¢g = |e|/(4dmegry). Hint: calculate the electric field E at
radius r (using Gauss’ law) and make use of E = —V¢.
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Figure 2: Left: the spherical cavity of positive charge inside an uncharged background
(shaded region). Right: The electrostatic potential of a homogeneously charged sphere.

The ion-ion energy can be calculated as €;; = (|e|/2) [ d*r¢(r)n, from where we obtain
in atomic units ¢;;/Ep = 6/(5r5). On the other hand, the electron is described by the
Hamiltonian

g I \%&
= L Jelolr),
which can be thought of as a sum of harmonic oscillators in x, y, and z directions.
Therefore € = 3hwy/2 — 3¢?/(8Tegrg), where wy = e/ (4meergm)/?. In atomic units we
can write ¢/Ep = 3/r3/?> —3/r, and therefore the total energy per electron in the Wigner

crystal phase is
E 3 1.8

NEg 3% 1y

In Fig. 3 we compare the energy of the Wigner crystal with that of the electron gas,
Eq. 39. As was to be expected, the energy in the crystalline phase is lower at large ;.

-0.05

E/NEg

-0.1

Figure 3: Comparison of the ground-state energies of the jellium model. Solid line: Eq. 39.
Dashed line: energy of the Wigner crystal.

EXERCISE The Wigner crystal is stable as long as the mean deviation of the harmonic
oscillator is much less than rq. Show that this is equivalent to the criterion r, > 1.
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LECTURE 5: JELLIUM MODEL-ELEMENTARY EXCITATIONS

Quasiparticle excitations
Now we turn to the discussion of elementary excitations of the jellium model. First let us
consider a state with an added extra electron with momentum K > kg,

[0) = ckal ).

The momentum of this state is AK, spin S = 1/2, and S* = «. These quantum num-
bers are identical to those of an electron in vacuum, but, due to the interactions with
filled Fermi sea, the excitation energy of this state, i.e. the difference éx = (Y|H|¢) —
(FS|H|FS) is different from the energy of an electron in vacuum, k. In fact,

1
WIH[Y) = ek — 50 > Zkak'W!CL/ngfaCLngaW%

k#k! o

1
= KT 5g Z Z Vi (fx + 0xxdsa) (fiw + Ok doa).
kAk! ©

From here one finds easily that

: LS Vi ¢ Pk !
DY Kk Kl TR T g k|<kp (2m)3 K2+ k2 — 2K - k

EXERCISE Making use of integration in spherical coordinates, show that

2k K
EK = 5K_e FF< ),

472¢ kp
1 — a2 1+
F(x) = o lnl_I—l—l.

If we define the Fermi velocity as vk = htoek JOK, and if we introduce a Fermi
velocity vg = hkp/m, then in the vicinity of the Fermi surface we can write

VK 2kp
— =14+Cryln ——,
Vrp |K—/€F‘

where C' = 771(4/97)/3. Note that in the limit of high densities r, < 1, the correction
term is small, except very close to the Fermi energy, where it diverges.

Two lessons can be learned from this simple example. The first is that within a
correlated many body system, excitation energies of electrons are different from those
in the vacuum. This was to be expected, however: when an electron is added to the
electron liquid, it has to develop an exchange hole and the charge distribution in its
vicinity is altered. Therefore, obviously, the electron energy is renormalized. Also in
more advanced approximations we can usually talk about a particle and the deformation
of the background which it causes. This composite object (bare particle+-deformation of
the reservoir) is called quasiparticle in the literature. Before proceeding let us point out

22



that the "bare particle’ in this scheme does not need to be an added particle. In fact, if
we remove an electron with K < kg from the Fermi sea,

¢} = exalFS),

we can talk about a hole. The momentum of the state |¢)') is —hK, its spin is S = 1/2,
and S* = —a.

The second lesson to be learned regards first-order perturbation theory: within that
approximation, the quasiparticle velocity diverges at the Fermi surface, in gross disagree-
ment with experiments. This indicates that the apparent success of perturbation theory
for the ground state energy (at rs < 1) does not carry over to quasiparticle properties.

Random phase approzimation

One can verify easily that the breakdown of low-order perturbation theory for vk is
caused by the long range character of the Coulomb force and the associated divergence
of Vg at ¢ — 0. What has gone wrong? In our calculation we have considered the
unperturbed wavefunction |¢) in which it has not been taken into account that every test
charge introduced into the electron liquid (and therefore every electron) will accumulate
a screening charge of equal magnitude and opposite charge around itself, due to which
process at distances larger than the size of the screening cloud the electric field due to the
test charge is negligible. In what follows we therefore introduce a method which allows
us to take this screening into account.

Let us consider that into the electron liquid, we insert a small test charge density

e

Q

{ ext

Pt exp(iq - r — iwt) + po exp(—iq - T + iwt)} :

The electron system will screen this test charge density. In what follows we will see that
if the perturbation is assumed to be small, the screening charge density will be given by
€ . . . .
9 [pqexpliq - r —iwt) + p_qexp(—iq - r +iwt)]. (41)

Therefore the total charge density is given by

% [pfft exp(iq - r —iwt) + ptf; exp(—iq-r+ z'wt)} , (42)
where pi** = p& + pq and p'°, = p=¢ + p_q, respectively.

Since the electrostatic potential is related to the charge density through the Laplace
equation, V2¢(r) = —¢; 'ep(r), we can introduce three types of electrostatic potentials,
all of which can be written as

gzﬁil exp(iq - r —iwt) + gbi,q exp(—iq - r + iwt),

‘Lq = (€092¢°) 'eply and the upper index 4 discriminates the external, induced, and total
potentials. As usual in the theory of electromagnetism, we define now a dielectric function
B ¢zxt B ngt B pq

T tot  tot  — tot’
¢q" Py Py

€(q,w) (43)

23



where we have shown explicitly the wavevector and frequency dependence of the dielectric
function. An alternative way of writing Eq. 43 is

1 ot pgot . ta

elqw) ogt  pge Pt
The form Eq. 44 is useful in fully microscopic formulations of the screening problem,
which we do not attempt here.

So far, our treatment of screening was exact (in the limit of a vanishing p®*). Now we
introduce the so-called random phase approximation (RPA), according to which ¢(q,w)
is calculated from Eq. 43 where the ratio p/p'" is approximated by the response of a
non-interacting electron gas to a perturbing charge density Eq. 42. The Hamiltonian for
the electron system is H = Hy;, + H', where

(44)

ext )

2
’ t) = e/dSrﬁ(r)¢tot(r> = - Qq {pA qu)t —iwt +pqptot iwt ent

where, in order to distinguish expectation values and operators, we have introduced
hats for the latter. In particular, p(r) is the operator of electron density and py, =
SN exp(—iq - r;) is its Fourier transform. We have introduced into H' also a factor
exp(nt) where it is understood that 7 is small and will be set zero at the end of the
calculation. Its physical meaning is that it corresponds to a slow switching on of the
perturbation, since exp(nt) = 0 for t — —oo and exp(nt) = 1 for t = 0.

Let us solve now the time-dependent Schrodinger equation

.0 /
zha\\w = [Hyn + H'(1)] |¥)

making use of time-dependent perturbation theory, assuming that at ¢t = —oo, the system
was in the ground state of Hy,. To this end, we expand |U(#)) in a set of eigenstates |n)

Of Hkim
= S an(t)e B ),

where E, is the energy of state [n). Note that |n) is a time-independent basis state in the
Heisenberg picture, whereas |¥(¢)) is a state in the Schrodinger picture. The expansion
coefficients have to satisfy the boundary condition ag(—o0) = 1 and a,(—o0) = 0 for all
excited states.

EXERCISE Show that standard time-dependent perturbation theory leads to the result
ap(t) = 1 and, for n # 0,

a,(t) = —

e? (n|p- q|0> b gilwno—w—in)t | (1] pg|0)ptS tOt i (@notw—in)t
heoQq? | wpo —w — 1 Wno + w — m ’

where wy = (E, — Ey)/h.
To first order in p**, the expectation value of pq in the state |¥(t)) reads
WO UO) = (BOl5al0)e 0 4 (0] (1))

= 27; [an(t)e™ (0] pg|n) + a;, ()" (n]pg 0) |
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Making use of the second-quantized form pq = >y, cfmckJrqa, one can see readily that
(n]pql0) is finite only if the momentum of the state |n) is —hq. For this state obviously
(n]|p—ql0) = 0. Moreover, note that (0|pq|n) = (n|p_q]0)*. After a simple calculation we
find then

¢’ [{n]p—q|0)|* (] pq|0)[?
U (). T (1)) = tot —zwt+77t a : qa :
(P )1Pal () = e qupq 20 [Wno — (w+in)  wno+ (w+in)

Thus the induced charge has precisely the same form as expected in Eq. 41 and we can
calculate the dielectric function making use of Eq. 43. We obtain

e(q,w) =1+ Vox(q,w), (45)

where the so-called polarization x(q,w) reads

1 1
x(q,w n|pg|0)] — + -
%’ PO | Ty Y ot )

In arriving at this expression we have assumed that the system is invariant by reflection.
In fact, the states |n) contributing to the sum in the first term of y(q,w) and the states
|n’) contributing to the second term are related by reflection symmetry. In a symmetric
system their energies are equal, E,, = F,,, and therefore the simplification is justified.
Finally, let us note that the states |n) which contribute to x(q,w) can be fully described
by specifying the wavevector k and spin o of the state to be created. Therefore we have

[(n|pq|0)|? = firq(l — fi) and

D)= 23 fuall
k

where the factor of two comes from summation over spins. By making the dummy variable
transformation k — —k — q in the second term and making use of the assumed reflection
symmetry €, = €_x we finally find

1 1
, + .
£k — Ekiq — (hw +ihn) ek — €xpq + (Aw + ilin)

(@, w) = EZ Jira — Jx . (46)

0 ek — €xqq — Tw — ihn

Static screening of Coulomb interactions
Now we are in the position to discuss screening. We consider the static case, when w =0
and the susceptibility at small q reads

a _
” de (2m)3

/d?’kd[hQ( kfp)] _ Mkr.

x(a,0) = _ﬁ 2m m2h?

Here we have taken into account that the derivative of a step function is a Dirac delta
function. Inserting the expression for x(q, 0) into the dielectric function, we find €(q, 0) =
1+ k2/q?, where k> = me®kp/(eom?h?®). Therefore the Fourier transform of the static
screened Coulomb interaction in the long-wavelength limit reads

2 2
s e e

T eq2e(q,0)  eo(q®+k2)
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Note that this interaction is not any more singular at ¢ — 0. Moreover, as Eq. 36 shows,
ks is the inverse screening length (the so-called Thomas-Fermi screening length). When
measured in units of kg, the inverse screening length reads

2
=) =4Cr,

where C' is the same numerical constant which appeared in the renormalization of Fermi
velocity. This result means that in the high-density limit r, < 1 the screening length
scales like k;! oc apy/rs, i.e. it is much longer than the average interparticle distance

aprs.

LECTURE 6

Collective excitations: plasmons

Another interesting physical effect which can be discussed making use of the dielectric
function are the density oscillations of the electron gas, the so-called plasmons. Physically,
the existence of such collective excitations can be explained as follows. Imagine that at
some space-time point the density of the electrons diminishes for some reason. The
electron liquid will flow towards this region, in order to restore charge neutrality, but,
because of inertial effects, the screening electrons overshoot. Thus the initial charge
fluctuation is not screened and the process of screening starts again.

From the formal point of view, spontaneous oscillations of density are expected when-
ever €(q,w) = 0. This can be seen from Eq. 43 which can be written in the form
¢ = ¢ /e(q,w). This means that even if the external potential ¢** vanishes, there
can still be a finite total internal field ¢,

EXERCISE Show that in the limit when q — 0 and w is finite,

2 ng?

x(q,w) = —mzk:fk(ﬁ?kw + €k—q — 2ey) = —

mw?’

From here it follows that €(0,w) = 1 — w?/w? where we have introduced w? = ne?/(me).
Since the dielectric function vanishes for w = w,, one can see that w, is the frequency of
spontaneous plasma oscillations. It is called plasma frequency in the literature.

Plasmons - alternative deriwation

Note that in the formula for w, there is no ii. This is in agreement with the fact that the
notion of plasma oscillations can be derived also from purely classical considerations. In
fact, let us assume small density oscillations of the electron gas described by the electron
density p(r). The continuity equation reads

9
P iv.j=0o

where j = nv is the electron current density (note that since we keep only lowest-order
terms, we have written in the expression for j the average electron density n instead of
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p). Plasma oscillations will lead to appearance of an electric field E in the electron gas,
which will accelerate the electrons, 0v /0t = eE/m, and therefore

dj  mne
ot m
Now, let us take the time derivative of the continuity equation and the quantity 0(V-j)/ot

express by taking the divergence of the acceleration equation. In the result let us make
use of the Maxwell equation V - E = ep/ey. This way we obtain

2
gtf +wip =0, (47)
showing explicitly that the electron gas supports plasma oscillations.

In what follows we construct a quantum-mechanical analogue of the above quasi-
classical equations. This will be done by the method of equations of motion, i.e. from
now we work in the Heisenberg picture. Our goal is to find an equation of motion for a
long-wavelength density oscillation, which is described by the operator pq.

Let us first calculate the time derivative of pq,

dp 1 el g he*  q-p;
Yo g =iy e (3 LR (15)

— 2m m
17

The calculation can be easily performed in the first-quantized form, since the Coulomb
energy obviously commutes with pq. Therefore only the commutator of kinetic energy
with pq has to be calculated. A useful identity enabling us to check Eq. 48 is

h|2m’ 2m m

Note that Eq. 48 is the Fourier transform of a quantum-mechanical continuity equation,

since it can be written as dpq/dt = —iq - jq, where
1Y . ,
RS R

i=1

is the current density operator and v; = p;/m is the one-particle velocity operator.
In analogy with the classical solution, in the next step we have to calculate the time
derivative of the operator dpq/dt:

d*pq i [ dp N e (R piedl? 1 q-Q
S Y o O D A} S o VL S R
A2 hl "t Ze QZVQ o Pa—-QPQ (49)

= 2m m &0

The first term in Eq. 49 comes from the commutation with the kinetic energy. The second
term is a commutator with the Coulomb energy. This term is nonvanishing, because the
operator dpq/dt contains also single-particle momentum operators. In arriving at Eq. 49,
we have written the Coulomb interaction energy in the form

1
HCoul = 30 Z VQ(pr*Q - N)7
2Q) Q70
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which can be proven easily if one inserts the second quantized form of pq and compares
with Eq. 35. In the derivation of Eq. 49, the commutation relation [p;, pq] = —hQe QT
is useful.

Now we observe that on the right-hand side of Eq. 49 the first term is small in the limit
q — 0. Moreover, the second term on the right-hand side is dominated by the contribution
of Q = q, which yields wf) pq- This is because for the remaining Q vectors the wavevector
of the density dluctuation can’t be equal to zero (note that Q = 0 is not included in the
sum). Note that pq—o = N is a macroscopic number, whereas for nonzero wavevectors the
phases in pq = 2% | exp(—iq-;) vary randomly (for a high density electron gas, where the
kinetic energy dominates) and are therefore likely to nearly cancel each other. In other
words, pq for a high density electron gas is expected to be small. Neglecting the small
terms we finally arrive at an equation for pq of the same form as Eq. 47. Hence, we have
rederived the plasmon within a quantum-mechanical language.

Quasiparticle lifetime

Let us address the question whether, if we prepare a quasiparticle excitation with a given
momentum and energy, the quasiparticle state remains unchanged for an infinitely long
time. The answer to this question is obviuosly no, since e.g. a quasiparticle with & > kg
can scatter from ko to k — qo by exciting a particle from an originally occupied state po’
below the Fermi level to an originally empty state p + qo’ outside the Fermi sea. The
resulting hole in the state po’ and the particle in the state p + qo’ are called an excited
particle-hole pair.

k-

N

p*+q
°

Figure 4: Scattering process leading to a finite lifetime of the electron.

In what follows we determine the quasiparticle lifetime 7 by means of the Fermi
golden rule,

E =2 x 271'2 ( ) > o= fora)(l = fueq)d(ck—q + Eptq — Ep — Ex)-

The Fermi functions make sure that the state p is occupied and the states p + q and
k — q are empty, the delta function takes into account the conservation of energy in the
scattering process (note that momentum is conserved by definition), and the factor of 2
comes from a summation over o’.

Let us consider only quasiparticles with low excitation energies, i.e. such which lie
close to the Fermi level. Then it is easy to see that all four momenta involved in the
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scattering process have to be close to the Fermi level and because of this restriction we
can replace the summations over momenta as follows

l o 1 31, 1 2 ~ L&g
sz:_ (27?)3/dk_ (27?)3/dkk /dskw]\[(o)/dglC 4’

where [ dS is an angular integration in k-space and we have introduced the density of
states at the Fermi level (for one spin direction)

. kl%—s . mkF
C o2mlhup  2m2RY

N(0)

Introducing k' = k+q and p’ = p — q we can write the golden rule as a triple sum over p,
p’, and k', if we also introduce another three-dimensional delta function for momentum
conservation. This way we obtain

h ds, dS, [dSw - . S
= = 4Ny [T [ [ R0 +p k- p)

Tk T 47

X /dgp/dep/ /dEklfp(l - fp/)(l — fkl)é(z?k/ +epy —Ep — Ep). (50)

EXERCISE Show that the energy integral in the second line of Eq. 50 equals (e —ep)?/2.
Hint. First introduce instead of ¢ its deviation from the Fermi level, £ = ¢ — ep. Then
show that the integral can be written as

[ g [T ey [T agesten vy -6-6) = [ de, [T dgy [ deud(e 6 +60 -6

Show that the last integral equals foé’“ dé, 05’“75” déy .

The angular integral in Eq. 50 can be shown to be finite. This then means that the
inverse lifetime of a quasiparticle varies as /7, o (e, —er)?. Since, due to the Heisenberg
uncertainty principle, a finite lifetime of a particle means a finite uncertainty of its energy
dex ~ h/7i, Eq. 50 implies that at sufficiently small excitation energies e —ep the energy
uncertainty of the quasiparticle becomes negligible with respect to the excitation energy
of the quasiparticle, and therefore the very concept of a quasiparticle is well defined.
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